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MZ0-02
December - Examination 2019
MSc (Previous) Zoology Examination
Cell, Molecular Biology and Biotechnology
Paper - MZ0-02
Time : 3 Hours ] [ Max. Marks :- 80

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: g we ux ‘o7, ‘¥ 3R ‘@ fiH wuel 7 Ao d g1 ud®
Gus & MGATTAR el & IR S|

Section - A 8§xX2=16
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
2 37l T ¢l

1) (i) Name the true exception of cell theory.
DIfThT RIgd P g YIS T A1 ddTsd|
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(ii) Differentiate Micelle form Liposomes.
gt T AU | faufeg Hifv|

(iii) Name the signal on RBC that exposes towards outer side
when they complete 120 days leading to their death.

S RFFt @1 919 a8y S RBC WR 3FART gl § 919 a8
120 f&AT b Sfiqeieprer T guf PR el & TAT I7ch! Feg bl
HRUT F9T B

(iv) Why the replication in 3'- 5'direction is not possible?
3'- 5' feam § ufcrpforaur avva @i 7 &

(v) Prokaryotes have polygenes (Polycistronic transcription)
but their are no polyproteins. Why?

SR # agof sgawen grft St € wReg aguie a
IR I, R ?

(vi) Which codon and Aniti codon is involve in Wobble?
areet UfehaT § P BreA Ug Ufadbie Afferd gld g 2
(vii) What is differential gene expression.

fafdeia S arfireafed o q9sed

(viii) What is the reason behind the eukaryotes have more no.
of MRMA than genes?
IoiRkaicd § MRMA & S&1 SiH & Sa1GT 81 &l
PRI g ?
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Section - B 4X8=32
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks.
Yus -
(oTg TR U9A)

fAder: gl IR WAl & IR ST 3T 3 IR Dl 3ferhad

2)

200 grect o AT HIRTTI T U9 8 37! & gl

Explain different types of glycerol phospholipds with structure
found in plasma membrane.

DI et § U STHaTet fIfi~ TR & forRict i ferfies
& TRTAT S HIT FHY |

What is secondary active transport? How its different from
primary active transport? Explain with suitable example?
fedta <fea aRag a1 22 SRIT SRl gRT 9=y fh a8
TrIfis Afeha uRaeT I fd TaR =1 82

Explain the chemo-osmatic process for energy generation?

oIt TS I IR IRIERUIT fafer & ussy |

Write short notes on / Siférea feoafort ferRau)
(i) Cytosolic Proteins / difarmrgedt M=
(i) Secretory proteins / BT M

Explain the following with diagrams

1 @1 S forl & A1 A9 |
(i) Nucleosome / Jfaeraa

(i) Chromatosome / Py
(iii) 30nm fiber / 30nm
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7) Explain the characteristic of genetic codon.
3T ge o fQranstt @ wmssd|

8) What is DNA fingerprinting ?Explain any non-PCR based
fingerprinting marker.
SITA.Y. I T g ? 5l U Siele™ forge &1 faavu
Sifrel o ot 3 .emR smeRa T8 2

9) Write short notes on / Sféred fewafor ferRau)
(i) Restriction endonuclease
T SR
(i) YAC (Yeast Atrtificial Chromosome)

IR T, (e P TorE)

Section-C 2X16=32
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
16 marks.

s - |
(Sref TR ¥ed)
fAder : fr=gl g yeAl & ITR VI 31T U ITR B Afdrpad 500
gregt B gRAfIT HITTI URdd U 16 3fehi P &

10) Write as essay on protein targetting and sorting in eukauyotic
systems?

e foudierur ua fRafresor R v oRg faRgu|
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11) Write notes on / =1 &R fewforat $ifsrgl
(i) Bioreactor / Sta-HfepaT U
(i) Meiosis / SR faqTST=
12) Write notes on / f=1 &R fewaforay $ifsrgl
(i) Agrobacterium as natural genetic engineer
TAISFCIRAT — UTPpicieh SiA A= &b S H]
(ii) Cell cycle
CIRCARCED
13) Write notes on / fF=1 &R fewfory Hifsol

(i) RNA Interference / RNA ey
(i) Tumor Sypressor genes / 34& AGHADRI S
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